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 �(  ���
���� 
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.(   ��
���� -/ITU-R M.625 ��� 
������<� 7�$��� -�=� ������ ������ ���+�� ��9 8�+��� 8��>���* 8���?+ 7
� 
:��>�<� ������ -,��� ����� ����� ��>�/ #��$��� @	� ���>  

A(  � -/-:����5�� ��!� ���&�� #�'���� ��(��"* #�� ��,�%� ��� -/ B���9��   

 �(  B���9�� -� -/ �������� ��>��+ #2� ����5�� #2� -�2��� ��> �!����� 0#�'���� ��(��"* -�2� -/ ) ��	� �>�
 ������2���� ��>��+�� ��C �������� ��>��+ 
� �,	�5� #�'�� ��(��"* �����(HF) �������2!��� ((MF):  

 �(   ��
��	� ������ ���"���� ����!"��� -� 8����2 8���� ��D -/ITU-R M.476:  

 �(   -���
��	� �������� ����!"��� -�� 
+���� #�'���� -/ITU-R M.476� ITU-R M.625B���9  #><� @	� 
0������+� ���� #&5  

�����  

1   ��	��� 
� ������� #�'���� ��(��"E� ������ ��� -/ B���9�� -� -/1 �������2!�� ��"���� ��>��+ 
� (MF) 
 ������2�����(HF)!"� #��$��%  ��
���� ��2�< 8���� 0������� �	�+���� ���5�� 
� ������ ������ ���+�� ��9 ����* ����

ITU-R M.476 ��
���� �/ ITU-R M.625:  

2   ���5�� @	� ������� �������� ��>��+ -� B/ 
� �!���� ��?+/ �/ ������ ������ ������ ��?+ #��$��� �+� 01+/
."��� 0-2�� 0������� �	�+������?+<� ��!� ����� #�� ���� @	� (��+� ������ 0���� ��,�� .  

                                                 
*    �� ������	 
���
�� 
������ 
������ ��� ��� 
���	�� ��� (IMO) ����	�� !��"	 #�$%� (ITU-T).  
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������ �1  

��������	
� ���  

1   ������A (ARQ)  

1.1   ������ ��	
� ���
�� ��
�� ����� ��
� ��� ������ ������ ������ ��� ������ ������ !��"� �# $%���ARQ &
�����# '�� �# &(��)��� ��������# (*��� ������ ++�� ,�� ���
�� ��
� ,�- ����� ��
�� ������� .����� �
��� ����� &���

/���
���� ��
��� (���- ++�� ,�� &����� ��
� ,�- ������� .����� ���
�� ��
�� �
���� &���
���� ��
��� (��	���  

2.1   �# &0��� ����- ������ 1+�2�� (���� 3�	� �# &������� +�� &+4���� � '�# +�� ��# �# &����+���� ����2��� ������
/5�6# �����  

3.1   ��� &����+�� 0)���� �)�� $
 7���� �# &���)� ���+ ������ �+�4� ��
�� ��+4� �4��� 8� (������ �	
� �# �)��
/��������# �# ��������# '�� �# ���+� (*���  

 �������1 �� ����� ��	
� ��
 ��
�� ��������� ���� ��� ��
 �
�� �����
� ���� ����
� ������ ��
���
 ��� ��� !"�#� $ . $� ������
 $����%
� &� �'���
� (�) *���ITU-T� ITU-R+  

 �������2 , $���-��
� /�� ITU-R M.476)  1�%"
�5.1.3 (�ITU-R M.625)  1�%"
�8.3 ( 3�����
 �������4� 5�6�7� 1���8 ���
��
� 1���8 �&� $� �������
�9��%�:� �
�� �; 1��� . 3���	-� ���%� 3���	- �
8 <$����
� =	� �; <>�� �
 5��?7� ��) $� $��� $�
�

 �� �
���
� ��������4� 3�@�A?�
� $� ����4� =	� �
8 ��"� �A�� �� �
���
� �����	
� ���6
� �; 1���� �������
� 3����
� $��� $�� �����6�
7� 1���8� $�@��
� 3�@�A?����� .1�����
� 1���8 5��?8 ��	��� $�� �'���
� ������
� 3����
� =	� ��%� : <B��
� ��A
�.  

 �������3 ,  B���4�� ��
��
� *���
� ���6 �� ��-�� C6�#� �����ARQ 3������
�� D����� $���7� ��
 ��%�
� ����� <������ ���� ��� 
 ��-��
� �; 1����
� ���	
�U.63 ITU-T�� <����
� E��
� �
8 ����
.  

4.1   ��	
� &(9%�� ��+� (�%���� ��)� �# ��� $��
� ��� �# &����� ��
� ,�- ���
�� ��
� �� (����� ����� ��+��
�:��; �# &������� �2���� ��)� �#� 5�6<� ��
��� (���- ++�� ,�� =���� �# ������� ��
� (�	���� $%��� &�	��� �������� 

�# =������++���� �.> ,�� (���?� ��@>�A� ������� =���� (��	��� ++�� ,�� &��������.  

5.1   �# ������� ��
�� (����� ,�- �+��� $��� ������� ��
�� �# ���
���� ��
��� $%��� &(9%�� ��+� (�%���� ��)� ��+��
 ��������� ���� ��) ��*�	��� ��+��� �2�+���ITU-R M.476� ITU-R M.625- 7�. ,� . ���4��� ������� ��
�� ��)� +;�

������� ��
��� ���A��� ���������# (��"� �< �@>�A� ��)�.�� $
 ��@6� ������ �)�
.  

6.1   ����- (��	��� ��
 &������� ��@�2A� $
 ��@6� ������ �)�
 ��# (��� �# �)��"(�����"/������� ��
��� �2	��� $���   

7.1  �- (��� �# ��
��� ���"(����� D�2���" ���
 ,�- �>+4� ���������# ������� @�2A� +�4� ,�
 &(����� �.> ���2� $
 
"��E����".  

8.1   ����- ���
�� ��
� (��� �# �)��"��
�� ���	��"�)�
�� �
���� ���+ 1# �� �:��� 3@�� ��+��  . ��
� �# (����
 �����- (��4���"��
�� ���	��"�+
�� ���; $
  ������)�+�� ��A����� ���� ()� (HF)�)�� �� ��;# ������� F.> �+� ��)� �#� & .

 �+���� 3�)
< ��	�� $%����18 ������ ������ ��� ����?� �������� ��++���� ,�� +�+��� 3�
+@�� ,�- ���E�� ��+���� G*��� �� 
 ������)�+�� ��A���� ��;��� $
 ������(HF)���- (�4��� �#  ��"��
�� ���	��"/�2� ��6��� ����	����� ��E�<� $
   

9.1   ����- ��� ��)�� �# $%���"��
�� ���	��" ������ D��6<� =�) ���� $
 �����- �� &���
���� ��
��� �2���� $��� 
 ��	��� $
 ���).��� ��+
���2 �������� �
���� �� ITU-R M.476 ��	��� $
� &2 �
���� �� 1��������   

ITU-R M.625 . ����� ����- ��)� �# ,�� &�+
�� ��+
 (6�+ ������� F.> �� H:I 8�A� �# �� +� ��"���)� ����-" 
(RQ) �������� 5+
- ��+��� $
 ����- (�# ��)�� �#� &VXKMCF �# TBOZA ��+��� $
 �I��I�� ������ ��)� �#� &

 �������� 5+
-VMPCYFS �# OIRZDA) ������ 8A�� �(ITU-R M.491 . ��*�; $
 ������� F.> �).� �# $%����
 �����:� $��+�� +�
�:� ���
���� ���
��� ������(ITU).  
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���
���� ��
��� F.2� K�6�� 3�;�<� $���� =�4��� 3;� $
 ���;� (�# (��	� ������6� �+�+A�� ������� ���6� �# (���� . �.-�
�@:�� ������ �< 7�. (�
��� �2� ��� 5�6# ���
�� ��
� �< �2�
 ����L�� 0�� �# F:�# ���).��� ��*�	�� $
 �+��� ���� �

 1# &=� () �� $��I�� 3�	�� $
 &F:�# ���).��� ��*�	�� ���� ��� �� ���)�� ,	��� �# (���
 &���)���� F.> ���4��� �#
TBOZA � ,��<� ����?� OIRZDA�� ��+
 �� �I��I�� ����?� ��
�� ���	 .M��� (�)�� (+4�� ��+��� �����- (����  
Bd 100 M��� =;�� ����
 8� &240 ms�+��� (���  . ������ F.2� $%���
 &���+��� ��E�<� ,�- ������� ��#"��
 ���;" �# 

 ���
 ,�- =�4�� �!� (%���� G��� �����- �# ����N� ��-� ����- ��+ ����� ��- 8�	"�"��
�� ���	��" 8���� (:6 �� . �# �)���
 ����N) &�>��L ��+ &0��� ����- (I� &8��"� ����- (�4���"��
�� ���	��"����+��� ��E�<� $
  . (�; (��� �# $%����

��+
��� ������ ������ �� (;<� ,�� �+
 $���I &O��	���.  

10.1   ����- 8�	� �# &+�
� ++��� (�%���� ���
 $
 $%���"��
�� ���	��" M��� O����� ������ &3 ���� �> ��) (;<� ,�� ���I 
 ������� $
ITU-R M.692.  

11.1  3+	�  ����� ���
� ���� ����� ���
� ��� ���
 (���� D���N� ���6�� ���4�� ��D��A�� O���� $�� ���

 (��.��� $
 ���6�� ��D��A�� 3+	�� &���
���� ���
����1.  

12.1  � �	
��
�� �������������� ������� ��  

1.12.1  �������� ���
�� ��� ������� �
  

1.1.12.1   =���� �� 0��� ����- ������ ���
���� ��
��� 8� ������ ������� ��
� (9%�� P���A1A �# ����2��� �# 
��+�4�� D�+��� ��D��A- (��4���� 5�6# ����� .�� (+����� ������ ������ (����� (%���� ���� .*+4� �!�� �24� �����4�

 ������� ��	
� K�6��� ������ ������ $*�	���� D�+��� ������� ��
� 3;� $�4� �A�
�� +��� &�2���4��� �A� $��� ��++����
ITU-R M.476 �# ITU-R M.625 ��*�	�� ��+	�� ��	
� ���6��� ������� ��
� ���> �# &���
�� ��
 VII A.  

2.1.12.1   (%�� P��� 7�. +�� ���2�� =�4� (��4���� &'��� ������ ++���� ,�� ������ ������ (����� ���
���� ��
���
������� �������.  

3.1.12.1  ���
���� ��
��� ���� �������� ������� ��@�2A� (��4��� ,�- !A�� �# 7�.) ������� ��
� (%��� �)��  ,��
���- .*+�� (�4���� /��	��� �2� ++
� (��	��� ++�� ������� ��	
� ���6��� ���
���� ��
��� ���> =�4� �ITU-R M.476 

 �#ITU-R M.625 ��*�	�� ��+	�� ��	
� ���6��� ���
���� ��
��� ���> �# &���
�� ��
 VII A.  

4.1.12.1  (��	��� '��
� (���- ++�� ,�� ������ ������ (����� ���
���� ��
��� (%�� P��� .*+��.  

2.12.2  
��� ��������� ,�- ���
���� ��  

1.2.12.1   =���� �� 0��� ����- ������ ������� ��
� ���
���� ��
��� (%�� 1+���A1A ����� �# ����2��� �# 
��+�4�� D�+��� ��D��A- (��4���� &5�6#.  

2.2.12.1   ��	��� ��D��A- ������� ��
� (%�� ���� .*+��1.1.12.1 �# 3.1.12.1.  

3.12.1  �
 ����!������ �  

1.3.12.1   =���� �� 0��� ����- ������ �������� ������� ��
� 8� (����� ������� ������� ��
� (%�� P���A1A 
��+�4�� D�+��� ��D��A- (��4���� &5�6# ����� �# ����2��� �# . �����4��� (+����� ������ ������ (����� �2�� ���� 7�. +4�

A� $��� ��++���� �!�� �24� ��	
� K�6��� ������ ������ $*�	���� D�+��� '��
� 3;� $�4� �A�
�� +��� &�2���4��� �
 �������ITU-R M.476 �# ITU-R M.625 ��*�	�� ��+	�� ��	
� ���6��� ������� ��
� ���> �# &���
�� ��
 VII A.  

2.3.12.1  ���� ������ (����� �������� ������� ��
� (%�� P��� 7�. +�� =�4� (��4���� &'��� ������ ++���� ,�� ��
������� ������� ������� ���2��.  
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13.1  "��
���#� ������� ��� �	
��
�� ��������  

1.13.1  �������� ���
�� ��� ������� �
  

1.1.13.1  ���� &���
���� ��
��� ��	��� ++
��� (��	���� ++�� ,�� ���
���� ��
��� ������� ��
� ���� ��@�2A� (��4
 ������� ��	
� ���
���� ��
��� K�6��� ���2�� =�4� ����-� /�������� �������ITU-R M.476�#   

ITU-R M.625 ��*�	�� ��+	�� ��	
� ���6��� ���
���� ��
��� ���> �# &���
�� ��
 VII A.  

2.1.13.1  �� ��A�
 D�+��� ���
���� ��
��� �������� ������� ��@�2A� =�)� �2����- ++�� ,�� ������ ���
���� ��
�
1�+� 3)
� �	���� �# ���������# ��- (��	���.  

2.13.1  ������� ��� �������� ���
�� �
  

1.2.13.1   ��@�2A� (��4���� &���
���� ��
��� ��	��� ++
��� (����� ++�� ,�� ������� ��
� ���
���� ��
��� ����
D�+��� 3;�� �������� ������� ������� ��	
� ������� ��
�� K�6��� ������ ������ $*�	���� ITU-R M.476 �#   

ITU-R M.625 ��*�	�� ��+	�� ��	
� ���6��� ������� ��
� ���> �# &���
�� ��
 VII A.  

2.2.13.1  � ���
���� ��
��� (���- ++�� (��	��� �������� ������� ��
�� �������� ������� ��@�2A� 3�	� ��	��� ++
��
��������� ���	����� 5+
- ��
 ������� ��
� ��A� 3I &D�+��� =�)�:  

 #(   ��	��� D��A- (��4���� &�� ��2� +4� �# &(��	��� ���
���� ��
��� (��	��� ++�� ,�� ����
 ��- ������� ��
� ��A�
3.1.12.1�# /  

�(  (��	��� ++�� ,�� ���������# ������� ��
� (��� ����� �������� ������� ��@�2A� ��A�� &(��	��� ���
���� ��
��� 
���������# �)�
�� (��	��� +�+4���� ,�� ���+�� ������ �����- (���N�.  

14.1  ������� $��  

1.14.1  0)���� �)�� 8� �)�
�� (+��� 3�� �# �)�� &�������� �S����� ���
���� ��
��� �
��� ��+��:  
 #(  �� ����!� ��-�# /1�+��� 3)
���� �# ���������# ��- &������ ���4��� ���
��� (��� H�
 �I+�
�  
�(   &�������� ��
��� 8� ���+ D���- �)�� �# ,�- ���
���� ��
��� $
 �)�
�� �@6� H�
 (����� �+��-� ��@6��� ����!�

1�+��� 3)
���� �# ���������# ��-.  

2.14.1  ���
�� ��
� F�A��� $
T���� 0)���� �)�� $
 �+�� (�4����� ����� ��	���� ������� ��� ��)� �# �A� &�) �E��
 (��.��� 7�.)1 ��	��� &2.(  

3.14.1  ����� F�A��� $
T(��.��� $
 �++
��� (�%���� ��D��A� ��	���� ������� ��� ��)� �# �A� &���
�� ��
� 1 ��	��� &1.  

2   ������B) ��	
� �
�
�� ������� �((FEC)  

1.2   �# ����� ���
� �� ++� ,�- ����� ��
� �� �# ���
�� ��
� �� (*����� (��� �# ���� ����� �A��� �)��
 ����<�� &�+
�� ����� ��
� ,�-B ��
��� $*�	���� D�+��� ���� ��L��� ��	
� �2	��� +;� )���
��� �# ( $
 7�.� ���4���

������� ���
��:  

1.1.2   � ��+���# &�2���� (�4��� �# 8����� � �# &������� $
 (��	���� ��
�� �
�  

2.1.2  �# &�+
�� ����� �� �I)< ������� 'A��� ��+��  

3.1.2   ����<�� &(%�� ��+ &(��	���� U��V� ��+��B1���� ��L 3:����� $������<� ��4��� ��)�� &.  

:�	��� =���� �# &���
�� F.> $
 &$%����������� ��
�� �# ���
���� ��
��� ������� (����� ++�� ,�� ����� ���
� �.  
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2.2   ����<� (*��� () #+�� �# $%���B $����N� "���4�� O�A�"� "����� ���%�".  

3.2   ����<�� ������ �����- ������� ��
� (�	��� ��+��B#� &���������# (�4��� ��+4��� �2�4��� #+�� �# $%��� & =;��� �
������� F.> (��	��� $2��� ��+�� ���������#.  

4.2   ����<� (*��� 3:���� �4�� �# ����� ���
�� �)��B =���� �� 0��� ����- ������ A1A �# ����2��� �# 
5�6# �����.  

3   ��������� �����
 ������� ��� ������ �������ITU-R M.476� ITU-R M.625  

1.3   ������� ��4��ITU-R M.625 ������� ����� @�2A� 8� $������<� $����� (�%����� ITU-R M.476 . �-�
 ������� $
 ++
��� ����� �� ����
��� ���) �# ����
��� 5+
- ���) �.- �� ++
� 1.�� ���4���ITU-R M.476 (�� �> &

D�+��� �+
 ��)��� D�+��� ����-.  

2.3  ) �.- ������� �	���� ��@�2A� ����
��� ���ITU-R M.625 �� ��D@A ��
���� $������<� =�4��� ��)� &
���������# D�+��� ���;- ��D��A- . ������� �	���� ��@�2A� &��4� ����
��� �# &����
��� 5+
� ���) �.- ��#�  

ITU-R M.476��
���� $������# =�4� 1# 3�� :
 & .<� &����� �.2�� ������� �ITU-R M.625 ���> (��4��� ���� 
 �+�+A�� ��@�2A��� () ��)� �# ��
��� &������ ������ ��@�2A��� ������ D�+��� ����- $
 3�;�<� ������ ����� ��
�

 ������� �	����ITU-R M.625�)�� �;� ��;# $
 7�.� .  

3.3  � �� ���)�� ++4�� 8� ����)�� ��D:��� ���!�� $%���� ���> �+�+A�� ���
��� F.2� K�6� �# �����
 �+�A���� ��@�2A��
 3�;�<� �����6 5�6#� 3�;�<� ������)�2������ �#) (�����- 8��!�� �����- 8��� D�+� �����- 1# .( �����- �)."� �# $%����

���
���� ���
���� ����� ���
� ����� 3*��; $
 �����2�� ����>.  
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��	
��� �1  

1  ��!�" ���#� ���
 $���%� �& ��'��� �
�(" ��*������ ���
   

  

  

< ≡ ↓ GA ↑ + ?

↓
1

2

3

4

< ≡ ↓
 

ΚΚΚΚ(7)

< ≡ ↓ GA ↑ + ?

< ≡  ↓  MSG ↑ + ?(5)

< ≡  ↓ QRC ↑ + ?

5

6

7

8

9

10

11

12

13

14

 ? (3)

(2)

< ≡ ↓ TLX ↑ xy +
< ≡ ↓ DIRTLX ↑ xy +

< ≡ ↓ MSG ↑ +

< ≡ ↓ TGM ↑ +
< ≡ ↓ URG ↑ +
< ≡ ↓ RTL ↑ +
< ≡ ↓ OPR ↑ +
< ≡ ↓ WX ↑ +
< ≡ ↓ NAV ↑ +
< ≡ ↓ STA ↑ +
< ≡ ↓ POS ↑ +
< ≡ ↓ FREQ ↑ +
< ≡ ↓ SVC ↑ +
< ≡ ↓ MAN ↑ +
< ≡ ↓ MED ↑ +
< ≡ ↓ OBS ↑ +
< ≡ ↓ HELP ↑ +
< ≡ ↓ HELP...  ↑ +
< ≡ ↓ AMV ↑ +
< ≡ ↓ BRK ↑ +

< ≡ ↓ MULTLX  ↑ xy/xy/xy +
< ≡ ↓ STS ↑ x +

< ≡ ↓ VBTLX  ↑ xy + 
< ≡ ↓ FAX ↑ xy + 
< ≡ ↓ TEL ↑ xy + 
< ≡ ↓ DATA ↑ xy + 
< ≡ ↓ RPT ↑ × ... + 
< ≡ ↓ TST ↑ + 
< ≡ ↓ TRF ↑ + 

< ≡ ↓ INF ↑ +

<  ≡  “Message reference charged

       time, etc.” (8)

Coast station Ship station

Ship initiates the call

Go to step 4 or
end of communication

N
o
te

 2
 a

pp
li
es

Exchange answer-backs (1)

Step

Exchange answer-backs (1)

Ship transmits its
AAIC, followed by + ? (3) (4)

Message procedure (6)

(2.1) or
(2.2) or
(2.3) or
(2.4) or
(2.5) or
(2.6) or
(2.7) or
(2.8) or
(2.9) or
(2.10) or
(2.11) or
(2.12) or
(2.13) or
(2.14) or
(2.15) or
(2.16) or
(2.17) or
(2.18) or
(2.19) or
(2.20) or
(2.21) or
(2.22) or
(2.23) or
(2.24) or
(2.25) or
(2.26) or
(2.27) or
(2.28) or
(2.29) or
(2.30)

D01

  
  

�������� �	�
��  �	�
�������  
�	��� 

������� ���� ������� 

�������� ��
��� �����(1)  

�������� ��
��� �����(1)  

������� ����AAIC� 
)������ 
���(������+�

(3)
 


�	��� ��! ��"����4�� 
������ #�����  

" 
�
�� ������� $%�
< ≡ "M   
&�! '������ ��*����”(8)  

������� ,�#��%!(6)  

 �
�
�
�
��
� 
�
	

�
�

2
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2  ������ ���� 	�
��
 �� �
���
 ����� �
�
�
������� ����  

 =��E �< (����� �+��-� ��@6��� ����# (��4��� ,�- ����� ��
� ,�- ���
�� ��
� �� F�A��� $
 (�%���� W��
� +;
� +; 1��+���� �������'�
 ��L���� �;��� $
 D�+� ���;N� G��� .  

  

5

6

7

↓
1

2

3

4

←  ≡ ↓  GA  ↑ + ?

Go to step 3
or

Coast station Ship stationStep

Exchange answer-backs (1)

Message procedure

If ship has traffic for coast station go to step 4 of Part 1

or

End of communication

Coast station initiates

call

Exchange answer-backs (1)

D02
  

  

  
 ��������	 
��
  :2 و �����1ت �

(1)   �(  ��� �����	 
����
�� �	���� �
��� ��� ����	�	�� ������� �� 
������� 
����� �
��� . 
���� 
��� ����!� ���� "�#�
��� ��� 
������ ���
 �� �
��� $� %��&�� ')�� $����
����
�� �	���� �
��� ��� *	
��� �������.  

     +������ 

��� ,�)�	 
������� 
����� ')- ����!� ���� "�#�
��� 
����
�� �	���� �
��� ��� *	
��� ������� �� 
������� 
����� �
���	
�!�	 
����
�� �	���� �
��� *�/� *)��.  

  +(   
�0	��� ���1� ����
�� �����ITU-T F.130� 2 
�0	��� ���1�	 2$���� "����ITU-T F.60
������� "������ .  
(2)  ����� ������ 3������ �� ��
!� ��� %�	�4��� 
����� 
��� 5���� 6 . "������ ��1��� $� ������ %������� 3������ 71� ��	�� $�� ���	

����� ������ 
���!��� . 3����� ��8 $� ��� %���9� �����	"HELP"	�� $� ;������ ;��<�
 $.  
(2.1)   =������ ����MSG
������� 
����� �� ��� 
>	����� �<����� �� ;��	� ��!��� $� ��� 5���� 
������ 
��� $� ��� .  
(2.2)   =������ ����TLX ↑ xy����� 
����� �� �1?	� $	��	 ����9� %
�8�	 $��&��� ��>�� *�	��� ��0	��� �- 
������ 
������ $� ��� 
��.  

   %���9� ��� �
�	y,������ ���	�� @����� �?� ��� .  
   %���9� ��1���	x 
���� %��� ��� %���A� $��� ��B�� ) 
�0	��� =/��(ITU-T F.69 ��0 ��!���	 )
/���� 
�8 .( ��>� $	�� ��
�8	

 =������ ��1��� $� $��� 2
������� 
����� $8 ;�
�1� ����9� %
�8�	 $��&���TLX	 '
�.  
   =������ ��1��� $� $���	TLXA =������ $8 ;�4	8 2
����& %�	0� TLX ��1� $� �� +D�� 
������ $� ��� ���� *)�� ) �E& $�


���� ��� ���� $� 
�
�1�� "�#��/9� (���� ������ @����� �?� ��� "��� 
? 
������ $F�.  
(2.3)   =������ �
�DIRTLX ↑ xy;������ ;E�0	� $� ��� +	��� @������ .  

   �
�	y,������ ���	�� @����� �?� ��� .  
   %���9� ��1��� �����x 
���� %��� ��� %���A� $��� ��B�� ) 
�0	��� =/��ITU-T F.69 ( ��0 ��!���	)%�	�4�� 
�8.(  
   =������ ��1��� $� $���	RDL + =������ $� @��� �?� �&G $� ��� %���A� 
����& %�	0� DIRTLX ↑ xy
�
/ $� �?��� $� ����� .  

(2.4)   =������ �
�TGM
�	�
�� 
�?�� �- 
������ 
������ $� ��8 .  

������� ��	
 ���
�� ���	���� ��	
�� 

�������� ��
��� �����(1) 

���������� ��
��� ���(1) 

������� ������� 

���
�� ��� �������4����� �
 1���	���� ��	
�� ������ ���	 �!��� ������� ���� �"�  

���	���� ��	
��  
��#���� $���  

��#��� ��!��� �$  

 ���
�� ��� �������3

�$  
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(2.5)   =������ �
�URG�1�� ��)�� 3��� $� $���	 
�	
��� 
�	�1��� ����� ;��	� �0	� $� ��� 5���� 
������ 
��� $� ��8  . 6� �����	
�	��� "6�� �� 6� %����� ')- ��1���H�.  

(2.6)   =������ �
�RTL
�	�
�� @��� 
���� �- 
������ 
������ $� ��8 .  
(2.7)   =������ ����OPR+	��� 
�	
��� 
�	�1��� ���� =� ;E�0	� $� ��� .  
(2.8)   =������ ����WX
�	/�� 
�0��� �	� "��	�1� ;��	� ��!��� $� ��� 
/��� 
������ 
��� $� ��� .  
(2.9)  =������ ���� NVA;��	� 
��E� "���)�� ��!��� $� ��� 
/��� 
������ 
��� $� ��� .  
(2.10)   =������ ����STA ')- ������� ���� ����9� %
�8�	 $��&��� �<��� �� 
��� �	� ;����!� ;��	� ��!��� $� ��� 5���� 
������ 
��� $� ��� 

�8� �	� "��	�1� 
�� 
1� ���F�� ��!��� �� ����	 
����� ������� �
8 	� ����9� %
) 
>�E��� =/��(6),�)�  .( ;�4�� ��1��� $� $���	
 =������STA ↑ x �
�	 
������ ,�� 
��� �	� ;����!� ;��	� ��!��� $� ��� 
������ 
��� 5���� $�� x ���
!� ���� 
������ =/�� ��8 


������� 
�����.  
(2.11)   =������ ����POS�� 
������ $� ��� 
������ =?	� ��8 *	��� 
���� . ���!��6� 	� ����9� ������ 
�	�1��� ')- "���
9� 71� ��1���	

 �<����� 3�E�� ����	�	��)	 ;EB� 2
����� �B��� 

���� +����/+���� 
�-�/�6� "��<�	��� 
�
�� 	�.(  
(2.12)   =������ ����FREQ)�� 

���� $��� 
������ 
������ $� ��� '
�8 
�?����� 
������ $�J� *.  
(2.13)   =������ ����SVC 
�
& 
���� �- 
������ 
������ $� ��� )
!�6 
�	
� 
�?����.(  
(2.14)   =������ ����MAN;�����	�	� ���� )����� $��� 6 *)�� 
���� ��� ;��	
� ������� 
�1� $�	 
������ 
������ �/�� $� *�	�4�� $� $� ��� .  
(2.15)   =������ ����MED=��� 
�/�8 
��� 
���� $� ��� .  
(2.16)   =������ ����OBS
�	/�� 
�0��� 
�>�� ��� ���� $� ����� 
������ 
������ $� ��� .  
(2.17)   =������ ����HELP��>��� �&�
 %������� 3������� 
�<�? ;��	� ��!��� $� ��� 5���� 
������ 
��� $� ��� .  
(2.18)  � �)� �	� 
���4� ��0��� ��8 �	0��� $���� 2
��	�4 
������� 
����� 3���� 71�� 
0�&�� "�#��/9� 3���� �	� "��	�1� $� $��

 3������ %��� 
���	� 

���� #��/9�HELP"��	�1��� ���	� +��� ���� 
������� 3������ %��� ��1���  .��B��� ���� ��1�:  
< ≡ ↓ HELP DIRTLX ↑ + ��8 �
�  "�#��/9� �	� "��	�1� ��� 5���� 
������ 
��� $�)
������ ���� ��� �	!� ���� "����1�� (


������� 
����� ��8 @����� 
��� �� ,���� =� ��	��� +	��� ;�!�	 ����0	�� ���� �/� $�.  
(2.19)   =������ ����AMV 
�>���� ��� ���� $� ����� 
������ 
������ $� ��� AMVER.  
(2.20)   =������ ����BRK ;��	� =�!�� $� ����� *	�
���� ������ ���1��� $� ��� ) ��
&��� 6� 
������ ���� =����� 6 $�� =������ �)- ��1���

 "����/��� �� ������ 2�!� 
�
1��� 
1�����(ARQ.  
(2.21)   ����MULTLX ↑ xy/xy/xy +%

1�� $�	��8 
���� �- 
������ 
������ $� ���  %
�8�	 $��&��� ��>� ��� ;��	� ������9 
00&� 


������� 
����� �� =?�	�� ����9�.  
   %���9� �
�	y,������ ���	�� @����� �?� ��8 .  
   %���9� ��1���	x 
���� %��� ��� %���A� $��� ��B�� 2) 
�0	��� =/��F.69 (ITU-T ��0 ��!���	 )
/���� 
�8.(  
  "����9 =���� �� �
�	 xy����� 
������ ���� ���� $� ����� L��&� @��� �?� ��8 ����  . ��8 $����� @��� ��?� ��� 5�
� $� �����	

�?��.  
   =������ ��1��� $� $���	MULTLXA =������ $8 ;�4	8 
����& 
�0� MULTLX ��1� $� �� +D�� 
������ $� ��� ���� *)�� 
)��� ���� $� 
�
�1�� "�#��/9� 
���	�
����  (
������ @����� ��?�� ��� �<����� ������.  

(2.22)   ����STS ↑ x + 
����� �� �1?	� $	�� ����9� %
�8�	 $��&��� ��>� 
���	� 
���� ��� ���� $� ����� 
������ 
������ $� ��� 

������� . ����	x $� L�J��� 
�	����� 
������ 
�	- �?� ��� 5 	� 9��?�� .  

(2.23)  ��� �INF
������� 
����� "���1��� %
8�? $8 %�
�0 "��	�1� ;��	� ��!��� $� ��� 
/��� 
������ 
��� $� ���  . "���
9� 71� �
!�	

���&� "���1� 
8�	? $8 �
0� 
���&� "��	�1� . =������ 
�1�	INF #�!��6 
���!� 3���� %��� ��1���	 
�
�� 
�<�? 
����� ')- �� 

���� 
�	�1������� +	D.  
(2.24)   ����VBTLX ↑ xy 
��	0�� �<����� ���� $� ����- �?� ��� 
������ 
������ ���� $� 
������� 
����� ��8 $� ��� )��	0 L�0�( 2

 @����� �?� ��� 
������ $� 
&�� ����� �����	 2;�!�6 �-
�
���� $� ���� ������ $�����xy .0��� ������� �?��� 5�
� $� �����	 L�

������ M� $� �	�� ����� �� ��	0��.  

(2.25)   ����FAX ↑ xy 
����� ��8 ���� $� ����� 
������ 
������ $� ��� PSTN L����� �?� ��� 
�0���� 
���	� xy.  
(2.26)   ����TEL ↑ xy L����� �?� ��� ;�����- ���� $� 
������� 
����� ��8 $� ��� xy
������ 
������ .  
(2.27)  �� ��DATA ↑ xy �?� ��� "���1��� 3���� 
���	� "���1� ��� ��8 
������ 
������ ���� $� 
������� 
����� ��8 $� ��� 

 ������� ,������xy)  
����� ��8(PSTN.  
(2.28)   ����↑ xy... RPT +	����� 2��!��� $� 5���� 
������ $� ��� ARQ 
��1� 
�	��� 
��1� 
���� 2) 
���� 2;EB� +	����� ;�!��� "����

FEC(����	�	�� ����A� %����� ���� �� "��� $� 2 . ��1���x...
������ 
�	- L�1�� . 
(2.29)   ����TST ;�����	�	� ���N� ����&� M� ��!��� $� ��� 
/��� 
������ $� ��� ) 2;EB�" =����� ����� +�!���...".( 
(2.30)   ����TRF�� 
/��� 
������ $� ��� 
������� 
����� ��8 ;����� 
!����� "���1���� �	� ;�����	�	� 
���� "��	�1� ��!��� $� �.  



 �������ITU-R  M.492-6 9

(3)   ����� $�"?"
����	�	� 
����� 
���� *�	�4 ��D  .�!� 
�	
��� 
�>�O� ;��	�8 *�	�4 	-	.  
(4)  � 
������ 
����� 
�	- L�1� %��� �	� "��	�1� ��� 
������� 
����� 5���� ��
�8 
�������(AAIC) ')- �
!� $� 
������ ����� ����� 2


������� ���!��� �	� "��	�1��� :< ≡ ↓ QRC ↑ +
������� 
����� $� .  
   P�� 2#�
��� ����
�� �����	 
������ ��� �B� 
���4� "��	�1� 
������� "������ 71� +��� 
?	..  

(5)  ������ 2%�	�4�� 
�8 2=������ �)- 3��� $� $��� $�� $� 
������ 
��� $� 
!�6 
��/� 
��	 23����� #�!��� �	� "��	�1� 	� 
����� "��
 ;��
/� �!���� $	�� 6 $�� =������ ���� $� $��� 	� ;������ ,�)) %	�&�� �� 2��B��� ���� ��8 �&
� ��
�84 3������ "���� 2WX 	� 

NAV 	� STA 	� MSG 	� (HELP . %	�&�� �� "�&
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�0	��� =/��F.60 ITU-T =������ ��� 
������ DIRTLX.  
   $���0	��� =/��ITU-T F.1	 F.31 ITU-T =������ ��� 
������ TGM.  
   $�1������ ��� 
������ 
0�& "�#��/� 
�� +���� 6	 
�4�	 
��� ;�0� %
�1�� �� 
������ $	��SVC	 MED.  
  ����� $�	�1�� $�4�� $� ����� $��	 
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��� ;�0� 
������ $	��	 =������ ��� 
������ ���� ������ *
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4.11.  
   $�1������ ��� 
������ 3��� $� $���	POS	 FREQ
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���	 "�#��/� .  
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